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Looking at the problem below by Robert Breiger (White to play & mate in 21) it may be apparent that this is an exercise in TRIANGULATION.  With the Black king confined White can perpetually check on the 2 diagonals a1-h8 & a2-g8. A pattern emerges & is repeated to set up the mate – moves 9 & 17 are the tricky ones:
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Many readers will be aware Gary Kasparov is again playing another match v computer (Nov 11-18). Wearing 3D glasses, he is playing a 4 game match against X3D Fritz at the New York City Athletic Club (time limit 40 moves in 2 hrs, followed by 20 in 1 hr & 15 mins to end of game). A virtual reality board & set float in the air in front of Kasparov with his moves received via voice recognition.  The games have been live on the net as well as on a US cable TV sports network.  After an exciting draw in Game 1 Kasparov blundered a pawn & the game in Game 2 before bouncing back to thoroughly outplay his spectral foe in the 3rd game to set up an exciting conclusion.  Here is the first game:




     Gary  Kasparov   -   X3D Fritz




       Game 1:  Semi-Slav Defence



 1       Nf3  
d5  


 2       c4  
c6



 3       d4   
Nf6  


 4       Nc3  
e6



 5       e3  
Nbd7 


 6       Qc2  
Bd6



 7       g4(a)  
Bb4(b)  

 8       Bd2  
Qe7



 9       Rg1  
Bxc3  


10      Bxc3  
Ne4



11      0-0-0  
Qf6  


12      Be2!(c)  Nxf2



13      Rdf1 
Ne4  


14      Bb4(d)  c5! 



15      cxd  
exd  


16      dxc  
Qe7 



17      Nd4!(e) 
0-0?! 


18      Nf5  
Qe5



19      c6  
bxc  


20      Bxf8  
Kxf8(f)



21      Ng3  
Ndc5 


22      Nxe4  
Nxe4



23      Bd3  
Be6  


24      Bxe4  
dxe4



25      Rf4  
Bd5  


26      Qc5+  
Kg8



27      Rgf1  
Rb8  


28      R1f2  
Qc7(g)



29      Rc2  
Qd7(h)  

30      h4   
Qd8



31      g5(i)   
Bxa2  


32      Rxe4(j)  Qd3



33      Rd4  
Qxe3+  

34      Rcd2(k)  Qe1+



35      Rd1  
Qe3+  


36      R1d2  
Qg1+



37      Rd1 
DRAW 

a)  Very aggressive – if the pawn is captured White gets an attack on the g file with Rg1.  

b)  The pin allows the Black knight to move to e4 if attacked.  The alternative was 7...dxc vacating d5 for the knight.

c)  White will gain open lines & a lead in development for the pawn.

d)  Preventing castling: 14 Ne5 fails to 14...Qh4  15 Nxf7, 0-0!  16 Ne5, Rxf1+  17 Rxf1, Nxe5  18 dxe5, Qxh2.

e)  An excellent central outpost & a stepping stone to f5.  If Black now plays 17...Ndxc5, 18 Bb5+, Kf8 leaves him with a bleak game.

f)  Not withdrawing the knight from action with 20...Nxf8.

g)  Meeting the threat of 29 Rxf7!

h) Relieving the pin on the c6 pawn although 29...h6 was possible – 30 Qxd5? Qxf4!. 

i)  31 h5 was better – 31...Bxa2  32 h6.  

j)  32 Rd2 would have kept the game alive & double-edged.

k)  White has no choice.

The final WA Grand Prix tournament of 2003 is the Christmas Open (Kings Hotel, Hay St. on  Sat 29 –1-7.30pm, & Sun 30 Nov – 10.30 am – 5pm).  

SOLUTION: 1 Qa1+, Kg8  2 Qa2+, Kh8  3 Qb2+, Kg8  4 Qb3+, Kh8  5 Qc3+, Kg8  6 Qc4+, Kh8  7 Qd4+, Kg8  8 Qd5+, Kh8  9 Qh1+! Bh4 (the bishop is deflected from covering d6): now the repetition of  moves 1-7 enables White to play 17 Qd7! leaving Black unable to stop Qh7++ (with the bishop on f5 Black would have ...Qd6+).   

